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3,870 + 3,848 + 7,051 + 3,865 + 3,851 =
3,869 + 3,855 + 7,017 + 3,862 + 3,863

3,865 + 3,854 + 7,070 + 3,835 + 3,844
3,868 + 3,855 + 7,034 + 3,852 + 3,855
3,863 + 3,851 + 7,061 + 3,853 + 3,866
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3,866 + 3,851 + 7,061 + 3,851 + 3,853

I | el Ve ol e e

il e

Al

SENRAE-
00

T = | N | F

05

ol

e

ﬁo

il

A

ﬁo

P 7,729(39), 7,725(49), 7,720(6€), 7,710(29),

5

7|z e
AA HHS 7,716.5m7}F AT},

7,708(54), 7,707(14)°] =4,

A 12.5R

< 308m=E 7133

ZZ

%

7}

.;__l

7,700mm7} E T},

3,850mm7} ¥ 31, 27F Hol&=

[e]
R

349



® &% A&A(19) : 7,707m-+25K = 308.28mn

® =% AR (39) : 7,729m-=25K = 309.16mn

@ =9 H 0 7,716.5m=+25K = 308.66mn

3,49 A F=] 1 7,711.25m+25R = 308.45mn
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19 3,863 + 3,844 = 7,707 3,871 + 3,855 = 7,726

24 3,858 + 3,852 = 7,710 3,843 + 3,856 = 7,699

39 3,878 + 3,851 = 7,729 3,841 + 3,850 = 7,691

49 3,847 + 3,878 = 7,725 3,841 + 3,848 = 7,689

54 3,846 + 3,862 = 7,708 3,850 + 3,856 = 7,706

6% 3,852 + 3,868 = 7,720 3,870 + 3,865 = 7,735
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e 3,49 A9 AT 7,711.25 1,69 A9 A 7.696.25
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Tl S H(7,716.5m) - 45 U 1 (7,707.66m) = 8.84mm

T3 3, 49 A9 B (7,711.25m) - F4F 1, 64 A9 B (7,696.25mm) = 15mm

AN Z48 0 15mx100%+-7,711.25 = 0.1945% — 0.2%
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